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#1: 14 G F(Q0) #2: 1 445319, 33) #3: 3 T

7 NS: F 7R FREHEHO) 0 8 NS: FRELE E54E5% (BAC) -1 13.43 : 6.57 Total VP: 13.43 Rank:
EW: E4F BREHHEAC) 10 EW: JE¥R5E Rt (580) 0 IMP:| 28 18 5
I -
#1 # 9832 2NS3 150 Mean: 4SN4 420 40 1 |[# 2 Iy 4SXW5 -690 Mean: 4SXE-2 300 120 2
v J65 3NS3400 270 3NS4 430 40 1 v AQ87 3NXW4 -650 -400  4SXE-1 100 110 1
o AJT2 Dif: -250 NS:-3 3NS3 400 40 5 * KJ98 Dif: -40 NS:-7 3NW-2 100 110 1
» 75 IMP: -6 EW:-4 3NN3 400 40 1 & AQ982 IMP: -1 EW:6 3SE3 140 6.0 1
a JT4 s Q75 2NS4 180 -3.0 2 ||a K954 » AJT872 4SW4 420 1.0 2
v 9 v KQ8732 2NS3 150 3.0 1 ||v K63 I v 54 4SE4 420 1.0 1
¢ Q9853 + K6 3Cs4 130 -40 1 ||e AQ ¢ T543 5HXS-2 500 -3.0 1
» Q432 * T6 3Cs3 110 40 1 ||a KJT3 w4 4SXW4 590 -5.0 1
POV PN 4 AK6 3SN-2 100 9.0 1 PEVEN 4 Q63 3NXW4 650 6.0 1
N 32143 vAT4 N 2~2~~ »JT92 4SXW5 690 -7.0 1
S 32143 74 S 2~2~~ 762 5CXS-4  -1100 -12.0 1
E ~~~~~ » AKJ98 E ~~~31 &765 5CXXN-3 -1600 -15.0 1
~~~~~ ~1~42
#3 aT4 4SW4 -620 Mean: 3HN3 140 120 1 ||# 4 a8 2DN4 130 Mean: 2DN4 130 60 1
v JT98742 3NE4 -630 -470  4SW-1 100 11.0 1 v T943 2DN3 110 -90  2DN3 110 50 1
¢ Q42 Dif: 10 NS:-4 2SW4 470 7.0 1 ¢ 987432 Dif: 20 NS:6 1NE-1 100 50 1
aA IMP: 0 EW:4 5HXN-3 -500 1.0 1 & Q5 IMP: 1 EW:-5 2SW2 110 1.0 1
~ Q98732 s KJ 4HXN-3 500 1.0 1 [|a QT62 a AJ75 2NE2 120 1.0 1
v K E v AQ65 4SwW4 620 4.0 3 |[|e72 + v AQ86 1NE2 120 1.0 2
*JT ¢ A987 3NE4 630 40 2 ||e A5 ¢ J6 2SW3 140 20 1
» KJ85 & QT4 3NE5 660 -5.0 4 ||a T9643 a KJ8 1NE3 4150 20 1
®EV PN AAGS ®OV PN L, KOI3 1NE4 180 -3.0 5
N ~~1~~¢3 N ~2~~~ 9KJ
S ~~1~~ ¢K653 S ~2~~~ ¢KQT
E 32~34 &97632 E 3~133 a&A72
32~34 2~~32
#5 a Q3 3NW-2 100 Mean: 5DE-2 100 60 1 ||#6 o KQJ943 3SXN-2-300 Mean: 3NE-6 600 14.0 1
v K976 3NE4 -430 -140  3NW-2 100 6.0 1 v 987 4HW4 -620 -380  3NE-1 100 100 1
¢ J42 Dif: 530 NS:6  3NW-1 50 50 5 * Q7 Dif: 320 NS:2 3SN-2 4100 7.0 1
» J843 IMP: 11 EW:7  3NE-1 50 50 1 » 98 IMP: 8 EW:6 2CW3 410 7.0 1
& AT6 & KJ74 3NW3 400 6.0 3 |[|a7 » A862 3SXN-2 300 2.0 1
v 53 v QJ42 3NW4 430 7.0 1 ||e AKJ62 — v 2SXN-2 300 2.0 1
¢ A53 + Q986 3NE4 430 7.0 2 [|e KT85 * AJ964 5DW7 640 6.0 1
» AK765 + Q & Q72 & JT4 5DE6 620 -6.0 1
POV PN 409852 PEVEN ,7T5 4HW4 620 -6.0 1
N ~~~~~ v AT8 N ~~~~~ v T543 3NE6 690 -7.0 4
S ~~~~~ o KT7 S ~~~~~ ¢ 32 3NE5 660 -7.0 1
E 33233 &T92 E 244 ~5 & AK653
33243 244~5
#7 » Q84 2NN2 120 Mean: 2NS2 120 40 1 ||# 8 a 187 3NE4 -430 Mean: 3NW-1 50 9.0 1
v AJ 3NN-2-200 -10  2NN2 120 40 1 v KJ72 3NW-150 -320 2NW3 150 5.0 1
* KJ52 Dif: 320 NS:4 2HN2 110 3.0 5 ¢ Q96 Dif: -480 NS:-3 2DE4 130 50 1
» AQ74 IMP: 8 EW:5 2HN-1 100 3.0 4 & 964 IMP: -10 EW:-9 1NW4 180 4.0 1
» K962 & J753 3NN-2 200 5.0 1 ||a A9 » QJB3 3NW3 400 20 6
v KQ872 + v4 2HN-2 200 5.0 2 ||e A3 v QT54 3NW4 430 3.0 1
¢+ 83 ¢ A964 ¢ AJT73 ¢ 542 3NE4 430 -3.0 2
» 86 S & KJ93 a AT73 » K2 3NW5 460 -4.0 1
®OVEN LAT - N o K542
N 121 ~2 »T9653 N ~~~~~ v 986
S 121~2 ¢QT7 S ~~~~~ * K8
E ~~~1~ &T52 E 35334 &QJ85
~~~1~ 35333
#9 » JT94 4SS6 480 Mean: 6SS7 1010 100 1 [|# 10 4 AT8 1NN190 Mean: 1SE-2 200 4.0 1
v AK 4SN6 480 550 6SN6 980 100 1 v J2 1NN2120 70  1NN4 180 3.0 2
¢ 62 Dif: 0 NS:-2 4Ss7 510 1.0 2 ¢ KT62 Dif: -30 NS:1 1NN2 120 20 3
& A9542 IMP: 0 EW:2 4SS6 480 2.0 7 » J843 IMP: -1 EW:-2 3CN3 110 1.0 1
# 865 s K 4SN6 480 2.0 3 752 # J943 2HW-1 100 1.0 1
v 98 v JT7643 v KQT73 _I_ v A6 2CN3 110 1.0 1
¢ 9743 + KQ5 ¢ 853 + A974 1NN1 90 10 3
& QT73 & KJ6 & T2 & K96 3NXS-1 200 -7.0 1
PV PN 4AQ732 ®EVPN 4 KQ6 3NN-2 200 7.0 1
N 34164 »Q52 N 32121 »9854
S 34164 ¢AJT8 S 32121 «QJ
E ~~~~~ a8 E ~~~~~ & AQ75




X AN 33z R
2 2019; «1 }_Wﬁﬁm% @ ==> R2 2
7 NS: BREHH E&H%’(EﬁC) 13 3 NS: E5H ?“fﬁm%(ﬁﬁo)s P:| 14.28 : 5.72 | Total VP: 27.71 Rank:
EW: T 7= REHEGIO) -5 EW: 33780 #E#7z(BAC) -1 IMP:| 19 : 6 3
— N
# 11 # 642 4HS-3 150 Mean: 5CW-1 50 9.0 1 |[|# 12 » AJ42 1NE1 90 Mean: 2HE-2 100 40 1
v T42 3NE3 400 -320 3HS-2 100 6.0 1 v K743 2CW-1-50 -40  1NS1 9 40 1
¢ 632 Dif: -250 NS:-2 4HS-3 150 50 2 + A95 Dif: 140 NS:3  1NN1 90 40 1
» A93 IMP: -6 EW:-5 3NE3 400 2.0 4 & T5 IMP: 4 EW:2 3CW-1 50 30 1
& AJ93 & KQ5 4SW4 -420 3.0 1 ||a K85 & T96 2CW-1 50 30 1
v 95 v AQ 3NE4 430 3.0 3 ||e 82 I v QJ95 INW-1 50 30 1
o QJT ¢ K854 3NE5 460 4.0 2 ||e K83 + QJ6 1NW2 120 20 1
» QT52 & K874 & AJ984 & K63 1NWA1 -90 20 1
POEVEN ,T8 POEVEN 4, Q73 1NS-1 4100 20 2
N ~~1~~ »KJB763 N ~111~ v AT6 1NE1 90 20 1
S ~~1~~ ¢A97 S ~~11~ ¢T742 1NS-2 200 -40 3
E 54~42 aJ6 E 2~~~1 Q72
44~ 4~ 2 ~~~1
# 13 » AB74 4HS4 -620 Mean: 4sxw-3 800 80 1 ||# 14 s AT8 3NN4 -430 Mean: 3NN5 460 2.0 2
v KQ 4HS4 -620 480  4HS5 650 50 1 v 975 3NN4 -430 390 3NS4 430 1.0 1
+ 985 Dif: 0 NS:4 4HN5 650 50 1 ¢ JT64 Dif: 0 NS:1  3NN4 430 1.0 4
4.AK82 IMP: 0 EW:-4 4HS4 620 40 5 & AK4 IMP: 0 EW:-1 3NN3 400 0.0 5
a KQJT93 & 65 4HN4 620 40 2 ||a 94 a K532 1NE-5 250 40 1
v9 v A532 3HS4 170 70 1 ||w 632 v QT8 2HN5 200 50 1
¢ AT2 —I— ¢ Q63 2SXW-1 200 7.0 1 []|e 532 + AQ9
a 763 & JT54 3HN3 140 -80 1 ||a J8763 & Q52
®e¢VeN 5HN-1 100 -11.0 1 ®EVPN L Q76
N~34~~vJT8764 N 14444 v AKM
S ~34~~ ¢KJ74 S 13444 K87
E~~~2~ aQ9 E ~~~~~ & T9
~ o~ o~ 2 ~ W~ e~~~
# 15 » KQ5 1HS1 -80 Mean: 2SW-2 100 30 1 |[|# 16 & AQ753 4SN4 -420 Mean: 4SN4 420 40 10
v KQ6 2SW-2-100 0 2NW-2 100 3.0 1 v QJ9 4SN4 -420 290  2SN5 200 -3.0 1
+ Q952 Dif: 20 NS:3 2CE-1 50 20 2 o+ A764 Dif: 0 NS:4 4SN-1 50 8.0 1
»T76 IMP: 1 EW:-2 1NW-1 50 20 1 » K IMP: 0 EW:-4 6SN-2 100 9.0 1
A JT3 » 8764 1HS1 80 20 2 ||a98  J62 3NN-3 150 100 1
v JT2 v 873 P 0 00 1 v KT654 — v 832
+ AK863 *T 2HS-1 100 30 1 ||e K * Q95
» Q2 & AKJ85 1NW1 -90 3.0 4 ||aJT732 » AQ64
POV PN 4A2 1NN-1 4100 3.0 1 PEVEN 4 KT4
N ~11~~ »A94 N ~4~41 v A7
S ~11~~ ¢J74 S ~5~41 ¢J7832
E 1~~1~ 4943 E 2~1~~ 4985
1~~1~ 2~1~-~
# 17 & 9642 4SE4 420 Mean: 3NW-4 200 40 1 |[|# 18 & AB75 5DXS-1200 Mean: 4SXW-2 300 10.0 1
v QJ8 3NW-3 -150 70 3NW-3 150 2.0 5 v 62 3NN-1100 -130  4SXE-2 300 100 1
¢ 65 Dif: 570 NS:2 5DE-2 100 1.0 1 ¢ Q65 Dif: 100 NS:1 4DS4 130 6.0 2
» Q642 IMP: 11 EW:10 3NW-2 100 1.0 1 & 1985 IMP: 3 EW:2 3SXW-1 100 60 1
a AT5 & KQ73 5DE-1 50 1.0 4 ||a KJT6432 aQ 3NN-1 4100 1.0 3
v AT3 v4 1NW-1 50 1.0 1 ||e QJ54 | v 983 5DXS-1 200 20 1
¢ 9872 ¢ AKJ3 4SE4 420 100 1 ||e ¢ J8743 3NN-2 200 20 1
» K83 & JT95 » J4 & AQ73 3NN-3 -300 -50 1
POVEN L, J8 POV PN L9 5DXS-2  -500 -9.0 1
N ~~1 ~ ~ o K97652 N 342~3 wAKT7 3HXW3 530 9.0 1
S ~~1~~ ¢QT4 S 442 ~3 ¢ AKT92 5DXS-3  -800 -12.0 1
E 45~42 aA7 E ~~~2~ aK62
45 ~42 ~~~2~
# 19 a K 2SW-1-100 Mean: 1NN3 150 50 1 ||# 20 s Q4 A Mean: 4SW-2 200 120 1
v KQ963 2SW-1-100 -20  2SW-1 100 3.0 4 v KQ4 4HE5 650 -430  6HE-1 100 110 1
¢ 632 Dif: 0 NS:3 3CN-1 50 1.0 1 + QJ8 Dif: 0 NS:-6 4SW-1 100 110 1
» 7643 IMP: 0 EW:-3 2HN-1 50 1.0 1 & J7643 IMP: 0 EW:-0 1HE5 200 6.0 1
» QJ765 # 982 2DS-1 50 1.0 1 [|a T652 & AKJ9 2HE6 230 50 1
v 87 v AJ52 1SW1 -80 20 1 v J83 _I_ v AT9765 A 00 1
¢ J85 * KT4 1NN-2 100 20 2 ||e 7642 . 4HE6 680 -6.0 2
» A92 ® KQ5 3DS-3 150 40 1 ||a A9 » KQT 4HE5 650 -60 5
POV PN 4, AT43 2NE3 150 40 1 PEVEN 873 4HXES5 990 -11.0 1
N 112~~ »T4 1NN-3 150 40 1[N 11~~~ 92
S 111~~~ ¢AQ97 S 11~~~ ¢ AKT953
E ~~~21 &JT8 E ~~651 #3852
~~~21 ~~651
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#1: 6 BE K(42.5) #2: 14 B2 F(42. 27) #3: 5 B 1K(41.2)

7 NS: pEE EFHEH0) 9 14 NS: B3k BOHHE (FAC) 8 8.50 : 11.50| Total VP: 36.21 Rank:
EW: Eég? Bﬁ%ﬁﬂ(]@ﬁ@ -8 EW: Rocky Tam Barney L IMP:| 28 32 5
e
# 21 Py KJ964 3NE 150 Mean: 3NE-1 50 7.0 4 [[|# 22 s QJ5 5SXS-3 -500 Mean: 5SXS-2 -300 8.0 1
v Q4 3NW5 -460 -220 3HW3 140 20 1 v K87 6SXS-3 -500 -630 6SXS-3 500 4.0 2
¢ J843 Dif: 510 NS:7 2NW3 150 2.0 1 . Dif: 0 NS:4 5SXS-3 500 4.0 1
» AJ IMP: 11 EW:6 2NE4 180 1.0 1 & KJT9764 IMP: 0 EW:-4 5DE6 620 00 5
s A8 » QT5 2SN-3 300 2.0 1 ||a K4 a3 3NW4 630 0.0 3
v AK95 v 876 3NW4 430 5.0 2 ||e QT64 — v AJ53 4HE6 680 20 1
¢ Q5 | + AK96 3NW3 400 5.0 1 [|e AQT * KJ98742 6DE6 1370 120 1
& 87432 & KT5 3NE4 -430 5.0 1 & AQ52 a3
POEVPN 4732 3NW5 460 6.0 2 PEV PN , AT98762
N ~~~~~ v JT32 N ~~~2~ 992
S ~~~~~ ¢ T72 S ~~~2~ 4653
E 42333 Q9% E ~64~6 &8
43333 ~65~6
# 23 a2 3NN-1-100 Mean: 3NN3 600 100 1 [|# 24 s AJb 6HN-2 -100 Mean: 6NS6 990 9.0 1
v QJB3 2NN3 150 110  3SE-3 300 50 1 v AKT73 6NN6 990 570  6NN6 990 9.0 5
¢ T74 Dif: -250 NS:-5 2NN4 180 2.0 1 ¢ J4 Dif: 1090 NS:-12 6HN6 980 9.0 2
» AKJ9 IMP: -6 EW:-1 3CS4 130 1.0 1 & Q93 IMP: -14 EW:-9 3NN6 490 2.0 1
a 95 » QU864 2NN3 150 1.0 1 [|a 873 a Q952 6NN-2 100 120 1
v AKT952 + v8 css 110 00 1||e2 v Q984 6NN-1 50 120 1
¢ 852 + AK963 2NN2 120 0.0 4 ||e T976532 . 6HN-2 100 120 2
a T2 S & 75 3NN-1 100 5.0 3 ||aT2 a K7654 6HN-1 50 -12.0 1
PV PN ,AKT3 1SE2 110 6.0 1 POEVPN L, KT4
N 3~1~3 w74 N 44656 »J65
S 3~1~3 «QJ S 44556 ¢ AKQ8
E ~2~~~ Q8643 E ~~~~~ & AJ8
~ 2 ~ I W~~~ o~ -~
# 25 » Q64 5HXS-2-300 Mean: 5CXW-2 500 11.0 1 ||# 26 o J6542 3NW4 -630 Mean: 6HW-2 200 13.0 1
v 7542 4SE4 -620 -60  3HS3 140 50 2 v J975 3NW6 -690 -580  3NW3 600 -1.0 1
¢ 653 Dif: 320 NS:-6 4SW-1 100 40 1 . Dif: 60 NS:-2 3NW5 660 -20 4
» AQ6 IMP: 8 EW:11  4HS-1 50 00 2 » J765 IMP: 2 EW:3 3NW4 630 20 7
a AJT8 & K975 3HS-1 50 0.0 1 ||aAK # 9873 3NW6 690 -3.0 1
v 986 v 4HS-2 100 1.0 4 ||ev KQ82 _I_ v T64
+ KT987 5HXS-2  -300 -6.0 2 ||e AKQT ¢ 542
& K87432 & T95 4SE4 -620 -11.0 1 » A94 » KQ8
POVEN o327 ®evVeN o QT
N ~22~2 »KQJT3 N ~~~~~ v A3
S ~12~2 ¢AQJ42 S ~~~~~ ¢ J98763
E 5~~3~ alJ E 44435 &7T32
5~~3~ 44535
# 27 » AKQ8 3NN5460 Mean: 3NN5 460 2.0 4 ||# 28 sl 3SXW-2300 Mean: 3SXW-2 300 7.0 1
v A73 3NN4 430 400  3NN4 430 1.0 8 v AQ3 3SW-150 -10 2DS4 130 40 1
* KJ75 Dif: 30 NS:2 3NN3 400 00 1 ¢ QT94 Dif: 250 NS:7  3SW-2 100 30 1
& T8 IMP: 1 EW:-1  3NN-1 -50  -10.0 1 & AQJ32 IMP: 6 EW:-2 3DS3 110 30 1
& J753 » 62 & A8643 & KQ95 3SW-1 50 20 1
84 v J952 v J72 I v KT9 2SW-1 50 20 1
¢ AT943 ¢ 862 ¢ 87 ¢ KJ3 4HS-1 100 -3.0 1
» A7 & K432 » K98 & T75 4DS-1 100 -3.0 2
PEOVEN ,T94 POEVEN ,J72 2SW2 110 -3.0 1
N 42444 ¢ KQT6 N 241~~ ¢ 8654 2HS-1 100 -3.0 1
S 42444 «Q S 231 ~~ ¢A652 1SW2 410 3.0 1
E ~~~~~ & QJ965 E ~~~2~ a64 3HW3 140 40 1
~~~~~ ~~~2~ 2SW3 140 40 1
# 29 » Q8762 6DW7 -1390 Mean: 4SE-3 300 150 1 ||# 30 s K 5CN5 400 Mean: 4HS4 420 8.0 1
v T86 3NE7 -720 -860  6DW-1 100 140 3 v3 5CN5400 90  5CN5 400 7.0 4
*4 Dif: -670 NS:-11 3NE7 720 40 4 ¢ T94 Dif: 0 NS:7 A 00 3
¢Q653 IMP: -12 EW:-4 6DW7 1390 -11.0 2 & KQJT8432 IMP: 0 EW:-7 4HS-1 50 40 1
s K4 s A 6DW6 1370 -11.0 2 || 87642 & AJ53 B6CXN-1 100 -50 1
v 542 v AJ73 7DW7 2140 15.0 2 ||e K852 v T6 5CN-2 100 -50 2
» KJT532 + + AQ98 +6 + Q87532 as2 400 50 1
& T2 & AKJ4 & 765 & A 5HXS-3 -500 -11.0 1
®OVON o JT053 ®OVEN o QT0
N ~~~~~ v KQ9 N 412~3 v AQJI74
S ~~~~~ ¢ 76 S 412~3 ¢AKJ
E 56416 #987 E~~~2~ a9
46416 ~~~2~
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#1: 14 52 F6L1D) #2: 7T ATEHEGLS) #3: 5 Bl E(@47.77)
7 NS: 485 BEEHHEAC) 17 6 NS: 51 HEE (H0) -4 VP:| 15.29 : 4.7 Total VP: 51.50 Rank:
EW: F# F£EMEEH0) 4 EW: BRK EFES (FAC) -1 IMP:| 40 23 2
- -
# 1 » AQ5 4HE4 420 Mean: 4HE-1 50 80 4 |[|# 2 s K 3NN-1 100 Mean: 3NN4 630 9.0 1
v38 4HE-1-50 -280 4HE4 420 40 7 v QT732 3NN3 -600 250  3NN3 600 8.0 6
¢ JT64 Dif: 470 NS:8 3NW4 430 40 2 + K876 Dif: 700 NS:8 3HE-5 250 0.0 1
» 79876 IMP: 10 EW:4 3NE4 430 40 1 « AQT IMP: 12 EW:8 3NN-1 100 -80 5
#» K986 s J4 » QT98 » 62 4SS-4 -400 -12.0 1
v Q93 v KJT62 v I v AKJ954
* Q95 + AK82 ¢ J5 ¢ T93
* AK5 * 43 * K976543 » J2
®OVON oT732 POV PN 4 AJ7543
N ~~~~~ v A754 N ~4333 v386
S ~~~~~ ¢ 73 S 25343 e¢AQ42
E 13424 &QJ2 E ~~~~~ &8
13424 W ~~~~~
# 3 » 19763 4HS5 -450 Mean: 4HXS5 690 80 1 |[|# 4 & AK72 6HW-2-200 Mean: 6HW-2 200 120 1
v AT8 4HS5 -450 350  4HS5 450 30 7 v 52 4HW4 620 -460 3HW4 170 7.0 3
*2 Dif: 0 NS:3 4HS4 420 20 1 ¢ QT72 Dif: -820 NS:-4 4HW4 620 -40 10
#» K765 IMP: 0 EW:-3 3HS5 200 -40 3 & J86 IMP: -13 EW:-12
& QJ85 a 42 2HS5 200 40 1 aT & 8543
v Q v 432 4HS-1 50 -9.0 1 ||e QJ963 + v AK87
¢ AJB43 + Q985 ¢ AJ53 ¢+ 986
» AQ8 & J943 & AK5 & T3
®eVeN LAK ®OVeEN o QI
N 1 ~523 »KJI765 N 1~~1~ T4
S 1~523 ¢KT7 S 1~~1~ ¢K4
E ~1~~~ aT2 E ~24~2 &Q9742
~1~~~ ~24~2
#5 s Q7 4CN-2200 Mean: 3NN4 630 120 1 ||# 6 s 187 2CE4 130 Mean: 3CE4 130 40 3
v Q 4CN-1100 -20  3HXE-2 300 80 1 v K863 3CE4130 -260 2CE4 130 40 2
+ KQJT95 Dif: 100 NS:-2 3DN4 130 40 1 ¢ AJ73 Dif: 0 NS:4 1NW2 120 40 3
» AJ96 IMP: 3 EW:5 2DN3 110 40 1 » J2 IMP: 0 EW:-4 3CE5 150 3.0 1
» JT964 & AK2 3SW-1 50 20 1 ||aKJB & A% 2NW3 150 3.0 1
v 9852 v J643 5CN-1 100 20 1||e9 — v AJ742 3NW3 600 -8.0 2
38 ¢ A7642 4CN-1 100 2.0 1 ||e K962 ¢ T8 3NW4 630 9.0 2
& 853 & K 3DN-1 100 -20 1 & K9843 & AT6
POV PN 4853 2SE3 140 3.0 1 PEVEN 4 Q532
N 44~~1 »AKT7 2HW2 410 3.0 1[N ~~~~~ v QT5
S 44~~1 o3 4CN-2 200 50 1[|S ~~~~~ ¢ Q54
E ~~11~ &QT742 3NN-2 -200 -50 1 E 42212 #Q75
~~11~ 5CN-3 -300 7.0 1 42212
3NS-3 300 7.0 1
#7 » J8 2CXN-3800 Mean: 6HE-1 100 130 1 ||# 8 s J2 3NE4 430 Mean: 3NW-1 50 90 1
v A6 3NW4 630 -770 4HE4 620 40 1 v KT8762 3NW4 430 -370 2NE4 180 5.0 1
54 Dif: 170 NS:4 3NW4 630 40 1 ¢ 82 Dif: 0 NS:-2 3NW3 400 1.0 1
» KT95432 IMP: 5 EW:1 4HW6 680 3.0 2 & AQ4 IMP: 0 EW:2 3NE3 400 1.0 2
~ AKG4 aT3 4HW5 650 3.0 4 ||a KQT7 a Ad 3NW4 430 20 6
v K742 + v QJT8 3NW5 660 3.0 1 ||e A93 v QJ5 3NE4 430 20 3
¢ Q92 + AKJ6 2CXN-3  -800 1.0 1 ||e K65 * QJT9
a AJ S & Q76 6HW6 1430 12.0 3 ||a 965 » KT87
PEVPN , Q9752 ®EVPN , 98653
N ~~~~~ v 953 N ~~~~~ v 4
S ~~~~~ ¢ T873 S ~~~~~ ¢ A743
E 15535 a8 E 23123 &J32
25535 23123
#9 943 3NS3-400 Mean: 4HXN4 590 7.0 1 ||# 10 s QT 4SE4 620 Mean: 4SE-1 100 110 1
v JT9754 5HN-150 320 4HS4 420 30 3 v J9632 2SE4 170 -450  4HS-1 100 8.0 1
* AQ7 Dif: -450 NS:-9 4HN4 420 30 4 + Q6 Dif: 450 NS:7 3SE4 470 7.0 1
» K IMP: -10 EW:-2 3NS4 430 30 1 » 9873 IMP: 10 EW:5 2SE4 470 7.0 1
» AT82 s 76 3NS3 400 20 2 ||a 9752 » AJB8643 A 00 1
v 6 v KQ83 5HN-1 50 90 2 (|leT5 _I_ v K 4SE5 650 -5.0 1
* 864 ¢ JT53 3NS-2 100 9.0 1 ||e AT974 * KJ8 4SE4 620 -50 8
& QJT83 & 764 » K5 » Q64
®eVPN LKQS ®eVeEN oK
N 23443 vwA2 N 2 ~3~~ v AQ874
S 33443 ¢K92 S 2~3~~ 532
E ~~~~~ & A952 E ~4~4~ &AJT2
~~~~~ ~ 4 ~ 4 ~
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#1: 7 NTRE(T71.05) #2: 14 2 F(68.6) #3: 5 E(60.28)
7 NS: SE R mER(FHO) 30 11 NS: % B ¥R (FAC) 17 VP:| 19.55 : 0.45 | Total VP: 71.05 Rank:
EW: F4E=F BREBHEAC) 17 EW: BHELR SRE(E(FFO) -3 IMP:| 53 10 1
_ . —
# 11 » AQ7 3CW3 -110 Mean: 1SS1 80 40 1 |[|# 12 8 1NE3 -150 Mean: 1NE3 150 6.0 2
v AQ95 2CW4 130 -80  2SS-1 -50 10 2 v KJ5 4SE5 -450 -380  4SE4 420 1.0 7
¢ 974 Dif: 20 NS:-1  3SS-2 100 1.0 1 ¢ JT4 Dif: 300 NS:6 3NW3 400 1.0 1
» J74 IMP: 1 EW:2 3CW3 110 1.0 2 » QJ8652 IMP: 7 EW:2 4SE5 450 2.0 4
» 9654 38 288-2 100 1.0 3 ||a K763 » AQT92
v T43 v KJ62 2HE2 110 1.0 2 ||e 7632 I v A9
+ AKQ ¢ JT82 2cw3 110 1.0 1 ||e 83 * A965
& A85 & KT92 3HE3 140 20 1 &» A7 » KT
POV PN ,KIT32 2CwW4 130 20 1 PEVEN 4 J54
N ~~~~~ v 87 N 1~~~~ » QT84
S ~~~~~ ¢ 653 S 1 ~~~~ ¢KQ72
E 33311 Q63 E ~2253 9%
33311 ~2253
# 13 a K9 3HN3 140 Mean: 3NW-2 200 70 1 ||# 14 » Q986 4HW-150 Mean: 4HW-2 100 40 3
v QT43 3DE4-130 -90  3HN3 140 6.0 1 w7 4HW-150 -40  4HW-1 50 30 3
T Dif: 270 NS:6 2SS2 110 50 2 ¢ AJB2 Dif: 0 NS:3 1SwW1 80 1.0 1
& QT9532 IMP: 7 EW:1 4CN-1 -100 0.0 1 & KQ64 IMP: 0 EW:-3 2HW2 110 20 1
a T765 N a A 3DE4 130 1.0 2 ||a AKT43 a5 3CS-3 150 -3.0 1
v AJ62 v 75 3DE3 110 1.0 2 ||e KJTS v AQ86 2HW3 140 3.0 4
¢ J84 —I— ¢ KQ9532 2DE3 110 1.0 2 |[|e K65 ¢ T97 2HW4 170 40 1
& A4 & 876 2SS-2 200 30 1 ||s9 » JT832
POV PN 4 Q8432 1NN-2 200 -3.0 1 POEVEN ,J72
N 3~11~ »K98 3DXE3 670 110 1[N ~ 1~~~ » 9432
S 3~11~ ¢A76 S ~1~~~ Q43
E ~3~~~ aKJ E ~~211 &A75
~3~~~ 1~211
# 15 & K2 4HW-150 Mean: 4HW-2 100 40 1 |[|# 16 4 76 4HN4 420 Mean: 4HS5 450 7.0 1
v6 1HW3 -140 -40  3NW-2 100 40 1 v AKJ72 3SW4 -170 140  4HN4 420 7.0 1
o JT87652 Dif: 190 NS:3  4HW-1 50 30 5 ¢ Q83 Dif: 590 NS:7 3NS4 430 7.0 2
» Q82 IMP: 5 EW:3 3SE-1 50 30 1 & 972 IMP: 11 EW:7 3HN4 170 1.0 1
85 # 7643 2HW2 110 20 1 ||a AJ8B5 A KT943 2HN4 170 1.0 1
v AKT952 v73 3HW3 140 3.0 1 ||w 64 — v T53 3HN3 140 00 1
+ AKQ *3 1HW3 -140 3.0 3 ||e AT4 * 97 2HN3 140 00 2
K & AT9765 4HW4 420 9.0 1 ||s KT86 » J43 3SE-1 100 1.0 1
POEVEN LAY POEVPN 4, Q2 2NS-2 100 -6.0 1
N ~1~~~ vQJ84 N ~22~~ Q98 3swW4 470 7.0 1
S ~1~~~ ¢% S ~33~~ ¢KJ652 3sw3 140 70 1
E 2~332 #J43 E 1~~3~ &AQ5 3NS-3 150 7.0 1
3~332 1~~3~
# 17 » J862 3HN-3 -150 Mean: 2DXE-2 300 70 1 ||# 18 & AJT765 4SN-1-100 Mean: 4SS5 650 11.0 1
v 9653 2DXE-2300 © 2SE-2 100 3.0 1 v T984 48S-2 -200 70 4SN4 620 110 1
* AB Dif: -450 NS:-4 1NS1 90 30 1 ¢ J4 Dif: 100 NS:-5 2SN4 170 3.0 1
» AK6 IMP: -10 EW:-7 3SE-1 50 20 1 &9 IMP: 3 EW:7 3SS3 140 20 1
a7 & KQT953 2SW-1 50 20 1 ||a94 ~ K3 2883 140 20 2
v KQT2 v J4 2SE-1 50 20 2 ||ev AK2 I v Q763 2SN3 140 20 1
¢ K7 ¢ Q954 3NN-1 50 20 1 []|e AT5 + Q9876 48S-1 100 -5.0 1
& QJ9873 &5 1NS-1 50 20 1 [|a JT632 » 87 4SN-1 4100 -50 2
POVEN LAS 3NN-2 100 3.0 1 TOEVEN , Q82 3NS-1 100 -5.0 1
N ~1~~~ o A87 3HN-2 4100 3.0 2 [N ~~~3~ wJ5 48S-2 200 -7.0 2
S ~1 ~~~ ¢JT832 3HN-3 150 40 2||S ~~~ 3~ K32 4SN-2 200 -7.0 1
E 1~11~ aT42 E 122~~ a&AKQ54
1~11~ 122 ~~
# 19 » QT86 6HXW-4 1100 Mean: 5SXE-5 1400 150 1 ||# 20 s 9 2CN3 110 Mean: 2HS3 140 30 1
v AQ42 5HW-2200 240 6HXW-4 1100 130 1 v T94 ANE1-90 40  3CN3 110 20 1
+ KQJ2 Dif: 900 NS:13 5DXS5 550 7.0 2 ¢ 73 Dif: 200 NS:2 2SS2 110 20 1
a4 IMP: 14 EW:1 5SE-5 500 60 1 & K76542 IMP: 5 EW:4 2CN3 110 20 5
# 53 & AK972 5HXE-2 500 6.0 1 ||s A842 #» 753 1NS1 90 20 1
v J9763 v KT85 5HW-4 400 40 1 || J82 + v K73 A 00 1
¢ T6 S 5HW-2 200 1.0 1 []|e J64 + AKQT2 2DE2 90 4.0 1
» JT97 & AK52 4HXW-1 200 1.0 1 || JT8 »~ Q9 1NE1 90 40 3
POEVEN , U4 5DXS-1 100 8.0 1 PEVEN 4 KQT
N ~4~13w 5DXN-1 4100 80 1[[N 3 ~211 v AQ65
S ~4 ~ 12 ¢A987543 5DXS-2 300 110 1 [|S 3 ~311 985
E 3~3~~ 4Q863 4HW4 620 130 1[|E ~1~~~ &A3
3~3~~ 4HXW4 790 140 1 ~1~~~
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#1: 14 % F(85.19) #2: 7 ATHE(77.62) #3: 5 Bl 1&(73.71)

£
-
4
?
trra 2

a A7
v K942
* AJ87

» QJ2
dove

mwnzZ
BRI N
NN
[N}
ww il
trra 2

= 2

NS: FEF BEEHEAC) 1 5 NS: E58 B f(B0) 7 VP:| 6.57 13.43| Total VP: 77.62 Rank:
EW: T 7= REHEGIO) -7 EW: EHES 5REH (FAC) -1 IMP:| 14 24 2
e
s 132 3SW-2 -100 Mean: 3SXW-2 300 50 2 |[# 22 o AKQT 4SN-150 Mean: 3NN3 400 9.0 1
v J84 3DS4 130 120  3HS4 170 2.0 1 v J642 4SN-150 -10  3CS3 110 3.0 1
¢ T872 Dif: 30 NS:-0 4DS5 150 1.0 2 o KT43 Dif: 0 NS:-1  2HW-1 100 30 1
» AKQ IMP: 1 EW:1 3DS4 130 00 3 &3 IMP: 0 EW:1 5DS-1 50 1.0 2
» KJ96 3SW-2 100 1.0 4 ||a 98 # J753 45S-1 50 1.0 1
v QT76 2SW-1 50 20 1 || AKQ87 — v T53 4SN-1 50 1.0 2
| * Q6 4CN-2 200 80 1|65 ¢ J872 3NN-1 50 1.0 1
& T62 & J9652 & A8 2NN-1 -50 1.0 1
a7 PEVEN 4642 4SN-2 4100 -3.0 1
v AK92 N 14~42 99 3NN-2 100 -3.0 1
¢ AJ43 S 14 ~42 ¢ AQ9% 2HW2 410 3.0 1
» J754 E ~~~~~ » KQT74 5CS-3 150 40 1
a J53 4HS5 -650 Mean: 6HS6 1430 130 1 ||# 24 a 142 4SS5-450 Mean: 4SS5 450 4.0 4
v Q75 4SE-2 -200 540  5HXS5 850 7.0 1 v K632 4SS5 -450 300 4ss4 420 3.0 5
*2 Dif: -450 NS:-8 4HS6 680 40 1 ¢ A5 Dif: 0 NS:4 3NN3 400 3.0 1
» AQJ964 IMP: -10 EW:-3 4HS5 650 3.0 4 & AQ54 IMP: 0 EW:-4 3SS4 170 4.0 1
& AKQT7 4HS4 620 20 3 [|aJ95 » Q8 4851 50 8.0 2
+ v 32 4SE-2 200 80 2 || JT84 v A975 38S-1 50 8.0 1
+ K96 4HS-1 100 -12.0 1 ¢ 762 ¢ QJ943
S & 853 3SE3 140 120 1 ||a J98 » K6
a2 ®eVPN , AK763
v AKJT96 N 41143 »Q
¢ JT543 S 41142 ¢KT8
a7 E ~~~~~ & T732
& KJT 4CXS4 -510 Mean: 4CXS4 510 100 1 ||# 26 a7 3NS3-600 Mean: 3NS5 660 2.0 1
v AJ 2CN4 130 30  2HS4 170 40 1 v A75 3NS3-600 600  3NS4 630 1.0 1
¢ T963 Dif: -380 NS:3 3CS4 130 30 1 + QT4 Dif: 0 NS:-0 5CS5 600 0.0 2
» AT97 IMP: -9 EW:-10 3CN4 130 3.0 1 & KQJ754 IMP: 0 EW:-0 3NS3 600 0.0 9
& Q85432 2HS3 140 3.0 1 ||a AJTO & Q864 3NN3 600 0.0 1
v 65 2CN4 130 3.0 1 ||w J94 _I_ v 863
¢ Q542 3CN3 110 20 1 ||e K853 ¢ 762
® 4 3NN-1 50 20 1 ||aT8 » AB3
& 96 3HS-1 50 -20 1 PEVEN , K532
v QT873 3NN-2 100 40 1 N 42312 v KQT2
* K 2NN-3 4150 50 1||S 42313 oA
» K8653 1NN-3 150 50 3 |[|E ~~~~~ & 92
a Ké 1NE3 150 Mean: 1NE1 -90 10 2 ||# 28 » Q974 1NW-1-50 Mean: 2SN2 110 50 1
v 8763 1NE2120 -120 1NW2 120 00 1 v Q85 3HW3 140 -60 2DS2 90 40 1
¢ T653 Dif: 30 NS:-0 1NE2 120 00 5 * AKJ92 Dif: -190 NS:-2 1NW-1 50 30 3
» AK3 IMP: 1 EW:1  1NW3 150 1.0 1 &8 IMP: -5 EW:-3 2DN-1 4100 1.0 2
& Q95 1NE3 150 1.0 5 ||a AK2 a J5 1NW1 9 1.0 3
v AJ2 v KJ73 | v AT96 3HW3 140 20 1
¢ J94 ¢ Q7 ¢ 654 2NW2 120 2.0 1
& 9654 » AT64 & J972 2HW3 140 20 1
a J873 ®IVPN L, T863 4HW4 420 -80 1
v Q54 N ~1~1~ w42
+ K82 S ~1~1~ ¢7T83
a QT E 3~4~1 a&KQ53
3~4~1
a Q8 4SE4 620 Mean: 4SE-2 200 50 3 |[|# 30 & AJT76 4SN6 -480 Mean: 4SN7 510 20 1
v KQT64 4SE-1-100 © 4SE-1 00 3.0 5 v K4 4SN6 -480 430  4SN6 480 2.0 9
o+ K632 Dif: 720 NS:3  2SE-1 100 30 1 + KQ87 Dif: 0 NS:2 4SS5 450 1.0 1
» 62 IMP: 12 EW:12 2SE2 110 3.0 1 » 82 IMP: 0 EW:-2 4SN5 450 1.0 1
N & KT542 2SE3 140 40 2 ||a K5 4 83 4SN4 420 0.0 1
v AJ92 2SE4 470 5.0 1 ||e 753 v JT62 3NN-1 50  -10.0 1
+ .9 4SE4 620 120 1 ||+ J9632 * T4
& KJ8 » K54 » AQJ97
& AJ9 POEVEN 4, Q942
v 8753 N 23452 » AQ98
¢ T54 S 23452 ¢A5
» AT5 E ~~~~~ » T63




019FE = g > FMHERE 2B & = RT

#1: 7 ANTSRE©93.8) #2: 14 % F(93.69) #3: 5 B 1(86.54)

7 NS: 485 BEEHHEAC) 23 1 NS: {528 $iHESE(BHO) 1 VP:| 16.18 : 3.82 Total VP: 93.80 Rank:
EW: S8 ERMEEH0) -1 EW: HR851 AL (FC) -2 IMP:| 24 : 3 1
-
# a6 3NW3 400 Mean: 5CE-1 50 90 1 |[# 2 Iy 5CN-1100 Mean: 4CN4 130 50 2
v KT9 4CE4 130 -370 4CE4 130 6.0 1 v 93 4CN4 130 -60  3CN4 130 50 1
¢ QJT7642 Dif: 270 NS:6  3NW3 400 1.0 4 ¢ J74 Dif: 230 NS:5 4SE-1 50 30 4
» 97 IMP: 7 EW:1 3NW4 430 20 3 & AJT76532 IMP: 6 EW:1  3DW-1 50 30 1
» QJ83 & A9 3NW6 -490 3.0 1 ||as A765 & KQ984 5CN-1 4100 1.0 3
v A2 v J875 3NW5 460 3.0 4 ||e AQ72 I v J86 5CXN-1 200 -40 1
* K983 *5 * QT9 * 8632 5CXN-2  -500 -10.0 2
» AKJ & QT6542 » Q8 » K
POV PN ,KT7542 PEVEN 4 JT32
N ~1~~~ v Q643 N 4 ~~~~ v KT54
S ~1~~~ ¢A S 4~~~~ ¢AK5
E 5~214 483 E ~213~ 9%
5~114 ~223~
# 3 » J93 2DXW-1 -200 Mean: 2DXW-1 200 40 1 ||# 4 s Ab 2SS-3300 Mean: 3CE-2 200 8.0 1
v A876 2CW-1-100 60 2883 140 20 2 v QJ3 2CE290 -120 4HW-1 100 60 3
¢T3 Dif: 100 NS:1  2SS2 110 20 1 ¢ K962 Dif: 210 NS:1  3CE-1 100 6.0 1
& AKT7 IMP: -3 EW:-4 1NS2 120 20 1 & KT54 IMP: 5 EW:5 2CE2 90 1.0 2
a7 » AB654 3CW-1 100 1.0 1 ||a JT42 a Q9 2CE3 4110 0.0 2
v QT4 v J52 2DW-1 100 1.0 1 ||e KT952 + v A84 3HW4 470 20 1
* AKQJ8 *2 2CW-1 100 1.0 2 ||e A54 *QJ 3DN-3 300 -5.0 1
» Q543 & 9862 1NS1 90 10 1 ||a8 & AQ9762 2SS-3 300 -5.0 1
®EVE®N L KQT2 3NS-1 50 3.0 1 ®¢V PN , K8753 4HW4 620 -11.0 2
N ~1121 ¢K93 2HN-1 50 30 1IN ~1~~~ #76
S ~1121 97654 2DS-1 -50 3.0 1 S ~1~~~ ¢T873
E ~~~~~ aJ 4HN-3 450 50 1[|]E 2~322 &J3
1~~=~~ 2~322
#5 I 4HS4 -620 Mean: 4SXE-4 800 60 1 ||# 6 » KQ8 3CE3 110 Mean: 5DE-1 100 50 1
v KT9743 4HN4 -620 550  4HS4 620 20 4 v 6542 2SS-150 -100 2SS-1 -50 20 2
¢ KT93 Dif: 0 NS:2 4HN4 620 20 7 ¢ 62 Dif: 60 NS:2 3CE3 110 0.0 2
aT72 IMP: 0 EW:-2 4SXE-2 300 6.0 1 » J862 IMP: 2 EW:-0 2SS-2 100 0.0 2
A JT9 » Q8754 3NS-2 200 -13.0 1 ||a J964 aT 2NW2 120 1.0 2
v 62 v AQ v 83 — v AQT7 3DW5 150 2.0 1
+ A65 ¢ J87 + AQT9 ¢ 7543 3DE5 150 20 1
» J8643 & Q95 & AT5 & KQ97 28S-3 150 2.0 2
PV PN 4 AKG32 PEVEN 4 A7532 2NW4 180 20 1
N 14411 »J85 N ~~~~ ~ v KJ9
S 14411 ¢Q42 S ~~~~~ + KJ8
E ~~~~~ » AK E 35213 %43
~~~~~ 35213
#7 a J87 28W2110° Mean: 3sw-2 200 60 1||# 8 » AQ97 2HW-1 -50 Mean: 3HW-1 50 20 1
v J86 2SW2110 -30  2SW-1 100 40 4 v 843 2HW-1-50 -30  2HW-1 50 20 6
*QJ Dif: 0 NS:-2 2SW2 110 20 6 + 9865 Dif: 0 NS:2 2HW2 110 20 6
& AKJ97 IMP: 0 EW:2 2SW3 140 3.0 1 & K6 IMP: 0 EW:-2 2HW3 140 3.0 1
& AKT93 & 542 2SE3 140 3.0 1 » K6 & JT53
v A4 + v Q952 3CN-2 200 5.0 1 ||e AT7652 v K
¢ 7632 ¢ AT * AQ ¢ J432
» 32 S & QT84 a 942 » QJ83
®eVPN L Q6 ®OVEeN o842
N 121~1 «KT73 N ~~~~~ v QJ9
S 121 ~1 ¢KOo854 S ~~~~~ * KT7
E ~~~1~ a65 E 2~11~ &AT75
~~~1~ 2111~
#9 a 972 4DN-1 50 Mean: 3NS5 460 100 1 [[|# 10 » AQT86 4SN4 -620 Mean: 4SN4 620 40 2
v AQ3 3SE-1-100 30  3NS3 400 9.0 1 v 62 4HS4 -620 490  4HS5 650 4.0 1
o K8742 Dif: 150 NS:2 4SE-2 200 50 1 ¢ AK84 Dif: 0 NS:4 4HS4 620 4.0 7
» T4 IMP: 4 EW:2 3SE-1 100 20 2 » Q4 IMP: 0 EW:-4 3NS3 600 3.0 1
D) & AJT86543 4DN-1 50 20 3 [|a 42 # J753 A 00 1
v KT42 v J5 5DN-2 100 40 2 ||v Q974 _I_ vJ 3NS-2 200 120 2
¢ JT9 ¢ 65 4HN-2 100 40 1 ||e Q3 * J652
& AJ9763 & 8 4DN-2 100 40 2 ||& 98762 & AT53
PEVEN ,KQ 5DN-3 150 5.0 1 PEVEN 4 KO
N ~31~4 9876 N ~4 454 » AKT853
S 132~3 ¢AQ3 S ~4454 o797
E ~~~2~ &KQ52 E ~~~~~ & KJ
~ o~ o~ 2 ~ W~ e~~~
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#1: 7 ATRE(110.96) #2: 14 & F(98.4) #3: 5 B 1£(95.77)
7 NS: F4EF BEEHEAC) 14 2 NS: # R E2E(BF0) -1 VP:| 17.16 : 2.84 Total VP: 110.96 Rank:
EW: E# R RE®EGH0) 17 EW: K&K EEE(FAC) -1 IMP:| 26 : 0 1
N
# 11 » QT 3NN-4 200 Mean: 4SXS6 790 110 1 |[|# 12 9 3SW-3 -150 Mean: 3SW-3 150 2.0 6
v 972 4SS6 -480 260 5SS6 480 6.0 1 v AT84 3SW-3-150 80  2SW-2 100 10 3
*7 Dif: 680 NS:6 4SS6 480 6.0 4 ¢ J9843 Dif: 0 NS:2 1NS1 90 00 1
» AKQT987 IMP: 12 EW:10 5CN6 420 40 2 » A86 IMP: 0 EW:-2 2SW-1 50 1.0 2
#» 987 # 532 2586 230 1.0 1 ||a AK7642 a8 2Ccw3 110 5.0 1
v A8543 v KQJT 4CS6 170 30 1 || K3 I v QJ6 2CW2 90 50 1
+ AQ3 * K962 3NS-2 100 80 1 ||e 72 ¢ KT65
» 63 & 52 3NN-4 -200 -10.0 3 ||a KQ2 & JT743
POV PN 4 AKJG4 PEVEN 4 QJT53
N 51~5~ 96 N ~~31~ 99752
S 51 ~5~ ¢JT854 S ~~31~ ¢AQ
E ~~~~~ » J4 E 31~~1 &9
~~~~~ 31~~1
# 13 » KQJB632 4SN-1100 Mean: 4SN4 620 120 1 [|# 14 » 984 3NW3400 Mean: 6DW-1 50 920 1
v K654 4SN-1100 -20  5DXE-2 500 110 1 v A862 3NE3 400 -340 4DE4 130 50 1
¢ 84 Dif: 0 NS:-2 3SN3 140 40 1 ¢ 752 Dif: 0 NS:-2 3DW4 130 50 1
» IMP: 0 EW:2 4SN-1 100 20 6 & J97 IMP: 0 EW:2 5DW5 400 20 1
a A5 N a 97 3SN-1 4100 20 1 ||a K6 a QJT 3NW3 400 20 3
v AT92 v Q7 4SXN-1 200 50 1 ||e Q9 v J754 3NE3 400 20 2
¢ 652 —I— ¢ AKQT73 4SN-2 200 5.0 1 [|e AQJ86 ¢ KT43 3NW5 460 -3.0 1
a 6543 & J98 3SXN-1 200 5.0 1 ||a AK82 » 64 3NW4 430 3.0 4
POEVEN L T4 4HN-3 300 7.0 1 PEVEN , A7532
N 1~~1~ «J83 N ~~~1~ ¢ KT3
S 1~~1~ ¢J9 S ~~~1~ ¢9
E ~2~~1 &AKQT72 E 241~3 &QT53
~4 ~~2 241~3
# 15 & K7652 6HWG6 980 Mean: 3SE-3 150 140 1 ||# 16 s 64 3NW5 660 Mean: 4CE-3 300 140 1
v3 6HW6 980 -750  7THW-1 50 13.0 2 v KJ9642 7DE-1-100 -640 7DE-1 100 120 1
¢ J543 Dif: 0 NS:-6 6HW6 980 6.0 11 ¢ 74 Dif: 760 NS:12 5DW6 620 1.0 1
» 163 IMP: 0 EW:6 & KT2 IMP: 13 EW:1 5DE6 620 1.0 3
s AT s J » KQJ7 A T9 3NW5 660 -1.0 4
v KQT97 v AJ542 v 753 — v AQ8 3NW6 690 -2.0 1
¢ AT97 + KQ8 * K8 + AQJT93 3NE6 690 20 1
» Q4 & AJB7 & AQJ9 & 76 6NW6 -1440 -13.0 1
POV PN 4 Q9843 POV EN , A8532 6DXE6 1540 -140 1
N ~~~1~ 986 N ~~~~~ vT
S ~~~1~ 462 S ~~~~~ ¢ 652
E 356 ~5 &K952 E 45245 #8543
356~5 46246
# 17 a Q7 3NW5460 Mean: 5SE5 450 1.0 1 |[|# 18 483 1NW5210 Mean: 2ss-1 4100 20 1
v J654 4SE5 450 -470  4SE5 450 1.0 2 v AJ2 2HE4 170 -180  2NW2 120 2.0 1
¢ 954 Dif: 10 NS:1  5SE6 480 00 3 ¢ 543 Dif: 40 NS:-0 3HE3 140 1.0 1
» Q873 IMP: 0 EW:-0 4SE6 480 0.0 2 & KJ542 IMP: 1 EW:1 2NW3 4150 1.0 1
a A2 & KJ9843 3NW5 460 0.0 1 ||a AJ4 ~ K9 3HE4 4170 0.0 4
v KQ9 v T83 3NW6 490 1.0 5 ||e 987 I v KQT54 2NW4 180 0.0 1
¢ A763 * K2 ¢ JT87 ¢ A962 2HE4 170 00 2
» KJ65 & A2 » A7 & 83 2NW5 210 1.0 1
POV PN AT65 ®¢VP®N , QT7652 1NW5 210 1.0 1
N ~~~~~ v A72 N ~~~1~ #63 4HE4 420 60 1
S ~~~~~ ¢ QJT8 S ~~~1~ ¢KQ
E 43566 &T94 E ~44~2 &QT6
44566 ~44~2
# 19 & 7532 6NW6 1440 Mean: 6NW6 1440 0.0 11 |[|# 20 a3 4SE5 650 Mean: 4SE5 650 3.0 9
v J5 6NW6 1440 -1440 6NE6 1440 00 3 v T976 4SE5 650 -760  5SE6 680 2.0 1
¢ T75 Dif: 0 NS:-0 ¢ AT752 Dif: 0 NS:3 4SE6 680 20 2
» AB842 IMP: 0 EW:-0 » KQ8 IMP: 0 EW:-3 6SE6 -1430 120 2
» AKQ8 s JT6 » KJ97 & AQT842
v Q97 v AK64 v AJ8 _I_ v Q3
¢ K94 + AQ6 ¢ J4 + KQ9
» K93 & QJT & J932 & A5
®OVEN o 04 ®eVEN 65
N ~~~~~ v T832 N ~~~~~ v K542
S ~~~~~ ¢ J832 S ~~~~~ + 863
E 55566 &765 E 32255 &T764
55566 32255
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#1: 7 ATSHE(126.7]) #2: 14 % F(116.7) #3: 5 B 1£(107.95)

7 NS: F4EF BEEBHEAC) 22 2 NS: /%% MRS (BEO) -4 VP:| 15.75 : 4.25 Total VP: 126.71 Rank:
EW: B R Z2X#EH0) 4 EW: K& E T2 (FAC) -2 IMP: 19 : 0 1
R S .
# 21 762 4HW6 480 Mean: 5DE6 420 2.0 1 |[# 22 a 654 4SE4 620 Mean: 3NE-1 100 110 3
v J62 4HE6 480 -500 4HW6 480 1.0 7 v 9752 4SE4 620 -470 4SW4 620 -40 1
¢ J3 Dif: 0 NS:1  4HE6 480 1.0 5 + K93 Dif: 0 NS:-4 4SE4 620 -40 8
» KQJB5 IMP: 0 EW:-1 6DE6 920 9.0 1 & 765 IMP: 0 EW:4 4SE5 650 -5.0 1
& AKT83 49 & K9732 » QT 4HE6 680 -50 1
v T854 v AKQ9 v 83 — v AQT4
+ KQ6 | * AB542 + AQ + T65
aT & 942 » KJ98 » AQ2
®evVeN o QJ54 ®OVEN ,AS
N ~~~~~ v 73 N ~~~~~ KJ6
S ~~~~~ ¢ T97 S ~~~~~ ¢ J8742
E 16632 &A873 E 4134 & T43
16632 41244
# 23 » Q9742 3NN-2200 Mean: 4SN4 620 80 4 ||# 24 & A732 4SN-2100 Mean: 4HE-2 100 40 2
v QJ97 3NN3 -600 280 3NN4 630 80 2 v 742 4HE-2-100 -30  4HE-1 50 20 5
¢ 32 Dif: 800 NS:8 3NN3 600 80 1 + AB53 Dif: 200 NS:4 3HE-1 50 20 1
a T2 IMP: 13 EW:10 2CE-2 200 20 1 & AJ IMP: 5 EW:2 4SN-2 4100 20 1
~ T853 a6 3SN3 140 40 1 ||a KJ96 a 48S-3 150 -3.0 1
v T8652 + v K43 4SN-1 100 9.0 2 ||e9 v AQJT853 4SN-3 150 -3.0 1
74 ¢ AK95 3NN-1 100 9.0 1 [|e Q72 + K98 3HE3 140 3.0 2
» Q9 S & K8643 3NS-2 200 -10.0 1 ||a& K9743 » 865 4SXS-2 300 7.0 1
®OEVPN ,AKJ 3NN-2 -200 100 1 ®PEVYPN , QT84
N 12142 vA N ~1~2~ vK6
S 12142 ¢QJT86 S ~1~2~ ¢JT4
E ~~~~~ & AJ75 E 2~1~~ &QT2
~~~~~ 3~2~1
# 25 a Q54 2CS3-110 Mean: 2HW-3 300 40 1 ||# 26 o 18754 3NS-1100 Mean: 3DS3 110 80 1
v AQ3 1NN2 -120 160  1NE-3 300 40 1 v QT72 2DS-1100 -230 2NS2 120 80 1
¢ 87654 Dif: 10 NS:-1  2SN5 200 1.0 1 ¢T3 Dif: 0 NS:4 3NS-1 100 4.0 2
» 54 IMP: 0 EW:2 1NW-2 200 10 1 » 97 IMP: 0 EW:-4 2NS-1 100 4.0 1
A T63 a K72 1NE-2 200 10 1||aQ » KJ963 2DS-1 100 4.0 1
v KT64 v J52 1HW-2 200 10 1 |]|e 9863 + v KJ4 3NS-2 200 1.0 1
¢ T92 + AKQ3 2NN2 120 1.0 1 ||e 97642 *8 3NN-2 200 1.0 1
» QJ8 * T96 2Cs4 130 1.0 1 ||a A42 » QJT6 38S-3 300 20 1
POEVEN 4 A8 1NN2 120 1.0 1 PEVEN 4, A2 4HN-4 400 5.0 2
N 32242 ¢987 2882 10 20 1|IN 12 ~~1 @« A5 38S5-4 400 -5.0 1
S 32242 oJ 2Ccs3 110 20 2 ||S ~2~~1 ¢ AKQJS 48S-5 500 7.0 1
E ~~~~~ & AK732 2Cs2 90 20 1||E ~~1~~ & K853 2SXE2 670 -10.0 1
~~~~~ 1HN2 110 20 1 ~ o~~~ ~
# 27 963 4SE6 480 Mean: 4SE4 420 1.0 6 ||# 28 a 32 5CS5-600 Mean: 5CS6 620 8.0 1
v 872 5SW6 480 -450  4SE5 450 0.0 2 v 43 5CS5-600 280 5CS5 600 8.0 4
¢ T7 Dif: 0 NS:-1 5SW6 480 1.0 1 ¢ KQ53 Dif: 0 NS:8 5CN5 600 8.0 1
» Q9765 IMP: 0 EW:1 4SE6 480 1.0 4 & AT865 IMP: 0 EW:-8 3NS3 600 8.0 1
» 84 & AKQJ752 3INW7 520 20 1 ||a KT965 a 74 4CS5 150 4.0 1
v AKJT3 v 54 v QJ7 I v A952 3CN5 150 -40 1
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